4= E5F 2RBERE B 2

==> R1

#1: 13 72(16.59) #2: 3 Oceans(15.97) #3: 6 £#5(15.97)

NS: FABHE 5REEAC) 29 NS: B2 B #(BO) 7 VP:| 15.97 : 4.03 Total VP: 15.97 Rank:
EW: £ E #FEHEE0) -7 EW: 2175 SRKIE(RAC) -2 IMP:| 22 : 2 2
- . I
4 53 4SE-1 -50 4SE-1 50 3.0 10|[# 2 s 1763 4HW-1 -50 Mean: 4HXE-2 300 80 1
v KQJ8 4SE-1 -50 3SE3 140 20 1 v 72 4HW-1 -50 3CXE-2 300 80 1
* KJ9 Dif: 0 4SE6 480 9.0 1 + AK93 Dif: 0 Ns:2 3sS3 140 40 1
» 9742 IMP: 0 4SE5 450 9.0 1 » 973 IMP: 0 EW:-2 4HW-1 50 20 2
» AQT864 4HE6 -480 90 1 942 s A5 4HE-1 50 20 1
v A96 v QJ953 | v AK64 2DW-1 50 20 1
¢ T4 * T87 * J4 1CE2 90 20 1
& AK & 65 & AJT42 3HW3 140 30 1
s 92 ®¢VeEN , KQJS 3HE3 -140  -3.0 1
¢ T75 N ~ 2~ ¢T8 3HE4 170 -40 2
o A82 S ~ 2 ~ ¢ Q652 2HE4 170 -40 1
» QJ853 E 2 ~ 1 » KQs 4HE4 -420 9.0 1
w 2 ~1
» 8732 2HS3 -140 4SS5 450 9.0 1 ||#4 # A6543 3NE-1-100 Mean: 3NE-1 100 60 5
v KT832 2HS3 -140 3ss4 170 30 1 v 9642 3NE-1 -100 1NW2 120 1.0 1
¢ 943 Dif: 0 2854 170 3.0 1 * 97 Dif: 0 NS:6 1NE2 120 1.0 2
a2 IMP: 0 2HS4 170 3.0 2 a T2 IMP: 0 EW:-6 3DW4 130 0.0 2
45 a T96 2HS3 140 20 2 ||aJ7 & KT9 1NE3 150 0.0 1
v AQ65 v 97 5CE-1 100 1.0 2 ||e T53 + v J7 3NW3 600 -100 3
* KJ72 ¢ T86 3HN-1 -50 3.0 1 ¢ AKT4 ¢ QJ32
& J873 & AKQ64 2HS-1 -50 3.0 2 ||s AQ64 & KJ73
PeVeN LAKQJM 4CE4 130 50 1 PIVEN 4, Q82
N ~~23~ 9J4 5SXS-2 300 90 1||N ~~12~ ¢ AKQS8
S ~~23~ +AQ5 S ~~12~ 4865
E 41~~~ aT9% E 44 ~2 &985
W41~~~ W 44 ~ 2
» Q643 5CE5 400 5CE5 400 10 1 ||#6 A T4 1NW-1 -100 Mean: 1NW-2 200 40 2
v A9752 3NE4 430 3NW4 430 00 1 v Q8 1NW-1 -100 2HE-1 100 10 1
¢ 63 Dif: -30 3NE4 430 00 2 + KJ976 Dif: 0 NS:1  1NW-1 00 10 7
& J7 IMP: -1 3NW5 460 1.0 6 » KQT7 IMP: 0 EW:-1 1NS1 90 10 1
& A752 3NE5 460 1.0 4 ||s AK98 s Q53 1NW1 90 40 1
v QJ v J742 —_— v K965 2HE2 110 50 2
¢ J97 ¢ AQ2 ¢ T84
& AQ54 & J4 & 832
®N ,JTO ®IVeN L J762
~~ ¢ T43 N 3 ~2 v AT3
~ ~ ¢ KQ842 s 3 ~2 ¢53
~4 &T3 E ~ ~ ~ & A965
~ 4 W ~ ~ ~
 T853 4HE4 620 2DXW-3 800 150 1 [|#8 a AJ94 4HXW-2 -300 Mean: 2CXW-4 800 11.0 1
v 872 4HES5 650 3CS-1 100 80 1 w7 3NS4 -430 3NS5 460 5.0 1
» Q972 Dif: -30 2HW4 170 7.0 1 o AKJT7 Dif: 130 NS:5 3NS4 430 50 1
& AQ IMP: -1 A 0.0 1 & A93 IMP: 4 EW:-2 5DS5 400 40 1
» K972 4HE4 620 -40 1 ||s Q2 » 8753 5DN5 400 40 1
+ v KJT943 4HES5 650 5.0 8 ||v AJ85 v Q96432 4HXW-2 300 2.0 2
S 4SXN-3 800 -80 1 ||e 53 * Q9 4HXE-2 300 20 1
S & 854 & KJT82 &5 A 00 1
» QJ4 PIVEN ,KT6 3DN5 150 3.0 1
v N 25~41 KT 3DN4 130 3.0 1
+ K653 S 35~505 4 8642 5DN-2 100 -80 1
» KJT763 E ~~2~~ aQ764 3NS-2 100 -80 2
W~~2~-~
#» Q52 2SS2 -110 4HE-3 300 6.0 1 |]|#10 » 65 4HN-1 100 Mean: 4HN6 680 9.0 1
v 84 4HE-3 -300 3853 140 20 2 v AKQJ763 4HNS5 -650 4HN5 650 9.0 2
« K83 Dif: 190 2853 140 20 1 * KJ Dif: 750 NS:9 4HN4 620 80 3
& AQJ87 IMP: 5 EW:-2 2SS2 110 20 3 & J7 IMP: 13 EW:8 3NS3 600 8.0 1
s AT7 4HE-1 100 1.0 1 ||saQJ3 » K98742 3HN6 230 1.0 1
v KJ96 3HE-1 100 1.0 2 [|v 952 + v T4 4HN-1 100 -80 3
¢ T6 38S-1 50 3.0 2 |]|e A72 ¢ 93 3NS-1 100 -80 2
& T953 3HE3 140 50 1 ||& AQ98 & 543 3NS-4 400 120 1
» KJ943 3CN-3 150 50 1 POVEN H,AT
2 v Q73 N ~43~2 o8
2 ¢ J72 S ~43~2 4 QT8654
~1 ad2 E ~~~ 2~ aKT62
~ W~~~ 2~
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#1: 13 F2fE(36.59) #2: 6 EH#(31.94) #3: 8 111¥8(26.13)
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NS: #4548 BT (BHO) -26 1 3 NS: 1555 BREE(BAC) 38 VP:| 0.00 20.00| Total VP: 15.97 Rank:
EW: 5RE# AEHEEEAC) -38 EW: RiE5 $BHERE(O) 26 IMP:| 4 ;62 10
e ——————
» JT76 3NE3 -400 Mean: 4HW-1 50 3.0 11|[|# 12 # J652 4HE5 -450 Mean: 3HW4 170 6.0 1
v6 4HW-150 -40  3NE3 400 -80 1 v JT4 4HE5 -450 -400 3HE5 200 50 1
¢ J53 Dif: -450 NS:-8 4HW4 420 90 2 ¢ 862 Dif: 0 NS:-2 4HW4 420 10 1
» AT865 IMP: -10 EW:-3 » KQ5 IMP: 0 EW:2 4HE4 420 1.0 2
s K3 & AK8 s 73 4HW5 450 20 2
v KJT8 v A962 I v KQ853 4HE5 -450 2.0 7
+ K72 ¢ K973 ¢ AJT
& QJ9%4 & 62 & T83
» AQ8 ®eveON L, QT4
v Q32 N ~~~~~ o7
¢ T964 S ~~~~~ 4054
a 732 E ~55~2 & AJ974
W ~55~2
» KJ63 1NW3 -150 Mean: 5DW-1 100 80 1 [|# 14 » QT85 3NW3 -400 Mean: 3NW-3 150 40 1
v 763 2DW4 -130 -250 3DW3 4110 40 1 v J6543 3NE-2100 -10  3NE-2 100 30 7
¢ J2 Dif: 20 NS:3 3DW4 130 3.0 2 *3 Dif: -500 NS:-9 3NW-1 50 20 1
» 9653 IMP: -1 EW:-3 2DW4 130 30 5 a JT4 IMP: -11 EW:-3 3NE-1 50 20 2
[ » A982 1NW3 150 30 1 ||a AK3 a J74 3NW3 400 9.0 1
v T854 3NW3 -600 -8.0 1 ||v KQT97 v A 3NE3 400 9.0 2
+ + Q873 W5 660 9.0 1 ||e Q86 + AT942
T 3NW4 630 90 2 ||s 93 & K765
aT74 PIVEN , 962
v QJ2 N ~~~~~ 982
¢ K6 S ~~~~~ ¢ KJ75
» AJ8742 E ~3~~1 & AQ82
W ~3~~1
'S 5DN-1-100 Mean: 5DS5 600 120 1 ||# 16 & AJ6 2DW-3 300 Mean: 1NW-5 500 7.0 1
v KJ972 5DN-1-100 -20  2NN2 120 40 2 v KJT84 2HN3 140 190  4HN5 450 6.0 1
¢ T8543 Dif: 0 NS:-2 2HN2 110 40 1 ¢ 963 Dif: 160 NS:3 1NW-4 400 50 1
» AK7 IMP: 0 EW:2 5DS-1 100 20 2 aJT IMP: 4 EW:2 2DW-3 300 30 1
 QT765 5DN-1 100 20 4 ||s Q9 » 543 1NW-3 300 30 1
v QT863 3NN-1 100 20 1 ||v Q9 —_— v 753 2SN5 200 00 1
¢ 62 3NN-2 200 50 3 ||e AK2 + QT74 2HN5 200 00 1
&9 & KQ9632 & 854 3HS3 140 -20 1
» AK832 PIVEN , KT872 2HN3 140 20 1
vd N ~~443 ¢ A62 1NW-1 100 30 3
» AQ97 S ~~443 4J85 3HN-1 50 6.0 1
a 842 E 2~~~~ aA7 3HN-2 100 70 1
W2-~-~~-~
& K6 3NW4 -430 Mean: 4HE-4 200 100 1 [|# 18 » Q9 4SW5 -450 Mean: 6SW-2 100 11.0 1
v 84 5DE-150 -250 6DE-2 100 80 1 v 962 6SW-2100 -430 3NE3 400 1.0 2
¢ 985 Dif: -480 NS:-5 5DE-1 50 70 1 + K865 Dif: -550 NS:-1 4SW4 420 0.0 2
» T87642 IMP: -10 EW:-7 2CXN-1 100 40 1 » T854 IMP: -11 EW:-11 4SE4 420 00 2
T 1SXS-1 100 40 1 ||a KT7632 & A5 3NE4 430 0.0 1
v AKT53 5DE5 400 -40 1 ||eQ v KT43 4SW5 450 1.0 3
+ Q7432 3NW3 400  -40 2 ||e AJT + Q93 4SW6 480 20 2
& A3 3NW4 430 5.0 6 ||& 762 & AKQJ 6SW6 980 -11.0 1
» Q9754 ®IVveN o J84
v QJ762 N ~~~~~ ¢ AJ875
*A S ~~~~~ o742
A K5 E 5~~44 493
W 5~~44
s QJ 2SE3 -140 Mean: 4SE-2 200 7.0 1 |]|#20 a 72 4SW5 -650 Mean: 5SW-1 100 120 1
v QT7 4HE-1100 -80  4HXE-1 200 7.0 1 v6 5SW-1100 -550 2HW6 230 8.0 1
¢ QT75 Dif: -240 NS:-2 4HE-1 100 50 4 +» QJ87432 Dif: -750 NS:-3 A 00 2
» KQT4 IMP: -6 EW:-5 4CS-1 50 1.0 1 » 874 IMP: -13 EW:-12 3NE4 630 -20 1
4 53 4CN-1 50 1.0 1 || AJ8B543 » Q96 5SW5 650 -3.0 2
v AK8654 3HE3 140 20 2 ||v AT + v QJ74 4SW5 650 -30 5
* KJ 2SE3 140 20 1 ||e9 ¢ AK5 3NE5 660 -3.0 1
& A75 1HE4 170 -3.0 1 ||& KQ65 & T32 4SW6 680 -40 1
& K96 4SE5 650 -11.0 1 POVEN LKT
v2 4HE4 620 -11.0 1 ||N ~ ~ ~ ~ ~ ¢ K98532
o A92 S ~1~~~ 47T6
~ J98632 E 5~~55 aAJ9
W5~~55




St - - 2
3 114 ¥ Z 2ABERE Bl = RS 3
L v v
Vo axq V-
#1: 13 TE1R(51.88) #2: 6 F#7(46.48) #3: 3 Oceans(40.83)
1 O NS: 55 BRiE%(5H0) 0 12 NS: #tZ % M=RE(BAC) 25 VP:| 3.82 16.18| Total VP: 19.79 Rank:
EW: £ E #FEHEAC) -25 EW: 55 % 21235 (550) 0 IMP:| 5 : 26 12
_ __
# 21 » AQ42 3NN5 660 Mean: 3NN5 660 1.0 2 [[# 22 o AQ42 1CE-2200 Mean: 1CE-4 400 50 2
v AJ962 4HN5 650 640  4HS5 650 0.0 1 w7 1CE-4 400 210 1CE-3 300 30 3
o7 Dif: 10 NS:1  4HN5 650 0.0 8 + KT74 Dif: -200 NS:0 2HW-2 200 00 1
» K93 IMP: 0 EW:0 4HN4 620 1.0 3 » AQT2 IMP: -5 EW:-5 1CE-2 200 00 1
& KT985 4 76 & KT8 4 9753 3DS4 130 -20 2
v KQ4 v73 v 8642 —_ v AQ95 2NS3 150 20 1
+ Q65 | * T82 + J62 + A5 3DS3 10 30 1
& 74 & AT8652 & 875 & K63 1SN2 110 -3.0 1
¢VeN ,J3 ®IVEON L J6 1NN2 1200 30 1
N ~45~4 ¢T85 N 44~~2 ¢ KJT3 1NN1 90 3.0 1
S ~ 45~ 4 ¢ AKJ943 S 34~~2 4Q983
E ~~~~~aQ E ~~~~~ aJ%
W~~~~~ W~~~~~
# 23 » J873 3HW3 -140 Mean: 3NN4 630 120 1 ||# 24 » 63 3CE-2100 Mean: 4SE-2 100 60 1
v Q4 2HW3 -140 -30  4HW-1 100 40 1 v QJT752 3NW-150 -140 3CE-2 100 60 1
+ AKJ9 Dif: 0 NS:-3 2SE-1 100 40 1 ¢ A74 Dif: 50 NS:6 4SE-1 50 50 1
» QJ8 IMP: 0 EW:3 2CS2 90 30 1 & QJ IMP: 2 EW:-5 3NW-1 50 50 1
s T2 + AKQ54 3CN-1 4100 20 1 ||a K74 » AQT52 3HN-1 50 3.0 1
v AK7 + v 98653 1SE1 80 -20 1 ||v K86 v4 3sW3 140 0.0 1
+ Q873 ¢ 65 3HW3 140 30 1 ||e JT986 ¢ 52 3SE3 140 00 3
& T975 S ®2 3HE3 140 30 1 ||a AT & K8654 3SE4 470 4.0 2
PEVEN A9 2HW3 140 30 5 PIVEN 4 JoB 4SE5 450 70 1
N 22~~2 ¢JT2 3DN-2 200 50 1[N ~~2~~ ¢ A93 4SE4 420 70 1
S 22~~2 4T42 S ~~2~~ 4KaQ3 5HXN-3  -500 -8.0 1
E ~~ 31~ aAK643 E 22~42 49732
W ~~31~ W 22~42
# 25 » 983 4HWG6 -680 Mean: 4DXN-3 500 50 1 ||# 26 » J87 4SW4 -620 Mean: 4SW-1 100 9.0 1
073 5DXN-4 -800 -680 5CE6 620 20 1 v 983 2CXN-2 -500 -300  3SW-1 100 9.0 1
+» AQJ82 Dif: 120 NS:0 5HW5 650 1.0 2 ¢ J2 Dif: -120 NS:-8 3Sw4 170 40 1
» 954 IMP: 3 EW:3 4HES5 650 1.0 2 » JT943 IMP: -3 EW:5 3SW3 140 40 1
s AJ64 s T75 4HW6 680 0.0 2 ||a AQT942 4 53 3SE3 140 40 1
v QT942 v AKJ 4HE6 680 0.0 3 ||v AK7 + v T654 2sw3 140 40 2
+ K ¢ T9 5DXS-4 800 3.0 1 ||eT5 + KQ86 2SE3 140 40 1
& Q6 & AKT73 5DXN-4 800 -3.0 2 ||a K5 & Q72 2CXN-2 500 -50 1
PEVEN H,KQ2 PIVEN L, K6 3NE3 600 -7.0 2
N ~~~~~ 9865 N 1~~~~ vQJ2 4SW4 620 -8.0 1
S ~ ~ ~ ~ ~ 476543 S 1 ~~~~ o A9743 3NE4 630 -80 2
E 6~552 aJ8 E ~~333 &A86
W 6~552 W ~~333
# 27 a J52 5DXWS5 -550 Mean: 4HS4 420 120 1 ||# 28 » AJ75 3NN4 630 Mean: 4HS4 620 110 2
v J9763 6DW-150 -230 6DXW-1 100 80 1 v K42 4HN4 620 80  4HN4 620 110 1
¢T3 Dif: -600 NS:-8 6DW-1 50 7.0 1 + Q87 Dif: 10 NS:11  3NN4 630 110 1
» A82 IMP: -12 EW:-7 6CE-1 50 7.0 2 & A93 IMP: 0 EW:-11 4HS-1 100 50 6
- # AK876 6HXS-2 300 20 1 ||a T86 » Q43 3NS-1 100 50 1
v v K84 5DW5 400 50 5 ||v J875 | v3 4HS-2 200 7.0 1
+ AK986542 *QJ 5DXW5 550 8.0 3 [|e JT9 * A432 3NN-2 200 7.0 2
& QT653 & J97 & QJ8 & K7642
PIVEN ,QT943 ¢Ve®N , K92
N ~~ 42~ ¢ AQT52 N ~~ 443 ¢ AQT96
S ~~42~ o7 S ~~443 ¢ K65
E 54~~~ aK4 E ~~~~~ aT5
W54~~~ W ~~~~~
# 29 » Q98 3NS3 600 Mean: 3NS5 660 40 2 ||# 30 a4 2SS6 230 Mean: 4SS6 480 50 4
073 3NS3600 510 3NS4 630 3.0 1 v AJT 4SS6 480 300 4SS5 450 40 1
¢ T96 Dif: 0 NS:3 3NS3 600 3.0 9 ¢ AT54 Dif: -250 NS:-2 3NN5 460 40 1
» KT643 IMP: 0 EW:-3 5CS-1 100 120 1 » 98654 IMP: -6 EW:-5 3SS6 230 20 1
» K743 N » T52 3NS-1 00 120 1 ||a A92 s J6 25S6 230 20 4
v AK654 v JT9 v 643 v 9875 2SS5 200 3.0 2
¢ J75 + ¢ 843 + K76 ¢ 9832 3NN-1 -50 -80 1
&9 & J872 & AT72 & KJ3
*eveN A6 ®+¢veN L, KQT8753
N 34~~2 Q82 N ~~~52 ¢ KQ2
S 44 ~~3 ¢ AKQ2 S ~~~52 +QJ
E ~~~~~ a&aAQ5 E~~~~~aQ
W~~~~~ W~~~~~




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

1 O NS: ZRZE 5 GHO) -45 14 NS: 5% BREZE(BAC) -4 VP:| 2.32 17.68| Total VP: 22.11 Rank:
EW: FaBiE RERAEAC) 4 EW: 3R{Z8B ERHE£(FI0) 45 IMP:| 26 : 55 13
N I
#1 aT76 3HS3 140 Mean: 4HN5 450 80 4 |[|#2 & AK76 5CS-1-100 Mean: 3NS4 630 10.0 1
v AJ9642 5CXW5 -550 130  4HN4 420 70 1 v J863 3NS3600 190  3NS3 600 9.0 3
Q72 Dif: 690 NS:0 3HN5 200 20 1 T Dif: -700 NS:-7 3NN3 600 9.0 2
a8 IMP: 12 EW:12 2HN5 200 20 1 » A843 IMP: -12 EW:-9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 7.0 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 450 70 1||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 550 120 1 [|S 3 ~ 3 ~ 2 o AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W~~~~~
#3 a 95 3NS-2 -100 Mean: 2HW-2 200 50 1 ||#4 # 965 4HXS-1 -200 Mean: 4HXS4 790 120 1
v AK75 2SE2-110 20  3DS3 110 30 2 v J8653 5CW-2200 150  5DE-2 200 20 1
o KT42 Dif: 10 NS:-3 3CS3 110 30 1 * QT42 Dif: -400 NS:-8 5CW-2 200 20 1
» T62 IMP: 0 EW:4 2DS3 110 30 1 a K IMP: -9 EW:-2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 5DWS5 -400 Mean: 3NW-2 100 100 2 ||#6 » 98742 3NW3 -600 Mean: 5DE-2 200 6.0 4
v 8765 3NW5 -460 -350 5DW5 400 20 2 v A92 5DE-1100 -60  5DE-1 100 40 2
* Q74 Dif: 60 NS:-2 3NW4 430 20 4 + Q98 Dif: -700 NS:-11 3HXS-1 -100 -1.0 1
» QJ8 IMP: 2 EW:3 3NW3 400 20 1 » 62 IMP: -12 EW:-4 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 # JT87 2DN-1 -100 Mean: 3NN3 600 110 1 ||#38 & A732 4NS4 430 Mean: 4NS4 430 40 1
v K72 1SW1-80 80  2CXE-1 200 3.0 1 v 4SS-4 -200 270  3NS4 430 4.0 2
+ KJ95 Dif: -20 NS:-5 2NN2 120 1.0 1 + AKQ7652 Dif: 630 NS:4 3NS3 400 40 5
a AJ IMP: -1 EW:4 1SW-1 100 1.0 2 » 85 IMP: 12 EW:10 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E 1~~~~ aJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 6CE6 -1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3NN-3 -300 Mean: 3HW-1 100 60 3
v 876 3NE4 -630 -990  3NW4 630 80 1 v KQ 3HW-1100 -140  3HE-1 100 60 1
¢ T63 Dif: -740 NS:-9 3NE4 630 80 3 ¢ KT4 Dif: -400 NS:-4 2HW2 410 1.0 1
& QJ7 IMP: -12 EW:-8 6DW6 1370 9.0 1 » T654 IMP: -9 EW:-6 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ oJ4 S 13 ~1~ o Q6532
E 66 ~~4 85 E ~~2~~ aKQ7
W 66~~4 W ~~2~1
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==> RS

#1: 13 Z2{B(85.65) #2: 6 EH5(62.8) #3: 1 BEFK(62.39)

1 O NS: FABE 5REAEHC) -27 3 NS: &5 REMW(BIO) -2 VP:| 4.25 15.75| Total VP: 26.36 Rank:
EW: BRI M8 E (BF0) 2 EW: |25 BEIE(BAC) 27 IMP:| 23 42 13
- v
# 11 » 82 3NW3 400 Mean: 4SW-1 50 9.0 1 [[|# 12 & QT987 4SN4 -620 Mean: 4SN4 620 100 2
v 542 3NE3 400 -350 4SE-1 50 9.0 1 v 96 5CXW-2-300 160 5CXW-2 300 40 3
¢ 86 Dif: 0 NS:-2 4SE4 420 20 5 + K986 Dif: -320 NS:4 5CXW-1 100 20 1
» KJT952 IMP: 0 EW:2 4HE4 420 20 1 & AT IMP: -8 EW:-10 5CW-2 100 20 1
& AK54 » JT97 3NW3 400 20 1 ||a J52 » 63 3NW-2 100 20 1
v AT9 v K83 3NE4 430 20 1 ||v AK52 | v J7 4CW-1 50 3.0 2
¢ 432 ¢ AJT7 3NE3 400 20 3 ||e AQ5 32 4CE-1 50 3.0 1
» Q73 & Ad 4SE5 450 3.0 1 [|& 754 & KQJ9832 4DN-1 100 -60 1
*eveN o Q63 ®IVeN L AKA 3CE3 410 70 2
N ~~~~~ ¢QJ76 N ~334~ ¢QT843
S ~~~~~ ¢KQgs S ~334~ ¢JT74
E ~3~43 86 E 3~~~~ a6
W ~2~43 W 3~~~+~
# 13 » QT3 2DE2 90 Mean: 3NW-2 200 6.0 1 # 14 » KQJs4 6SNG6 -980 Mean: 6SN6 980 6.0 7
v Q3 2CN-2200 -60  3SE-1 100 40 1 v AK 4SN6 -480 760  6NN6 990 6.0 1
* Q4 Dif: -110 NS:-4 3NW-1 100 40 1 + KQ65 Dif: -500 NS:-7 4SS6 480 7.0 1
» KQ9763 IMP: -3 EW:1 2NW-1 100 40 1 » Q6 IMP: -11 EW:-6 4SN6 480 7.0 4
s AJ N & K6542 1NW-1 100 40 1 T2 4 65 3NN6 490 70 1
v KT98 v A62 1NN1 90 40 1 v QJ83 v 7542
+ KT85 + + A73 2DE2 20 -0 1 ||e T43 * J72
& JT2 & 84 3DE3 110 20 1 ||« AJ98 & T742
®IVeN L0987 2SE2 110 20 1 PIVEN 4, AIT3
N ~~~~1 ¢J754 1NW2 120 20 1 ([N ~6~66 v T96
S ~~~~1 ¢J962 2CN-2 200 -40 2 ||S ~6~66 ¢ A98
E ~333~ aA5 1NW5 210 -40 1 ||E ~~~~~ & K53
W ~333~ 2HS-5 500 <100 1 ||W ~ ~ ~ ~ ~
# 15 » 8632 3NW3 400 Mean: 3NW-3 150 6.0 1 ||# 16 a4 3SS-2100 Mean: 3NN3 400 9.0 1
v K43 3CW4 130 -80  3NW-2 100 50 1 v QT93 2SS2 110 20  4HW-2 200 50 1
¢ 743 Dif: 270 NS:-2 3NE-2 100 50 1 + Q852 Dif: 210 NsS:3 2SS2 10 30 3
» J93 IMP: 7 EW:8 3NW-1 50 40 2 » A863 IMP: 5 EW:3 3NE-1 100 20 1
s T4 & AKQ9 3CW3 410 1.0 1 87 4 QT3 3S8-1 50 20 2
v 652 v AJ8 1SE2 110 1.0 1 || v KJ652 v A84 2881 50 20 1
+ A652 ¢ 98 4CW4 130 20 1 ||e T3 + AKJ9 3SXS-1 100 -30 3
& 8542 & AQ76 3CW4 130 20 3 ||s KT97 & J42 3SS-2 100 -30 1
POVEN ,J75 2NE3 150 20 1 ® ¢V E®N 4 AKJ9652 2NE4 180 50 1
N ~~~~~ ¢QT97 3NW3 400 80 1[N ~~~21 o7
S ~~~~~ ¢ KQJT 2SN-4 400 80 1([S ~~~21 o764
E 4~~~3 aKT E 2~2~~ aQ5
W4~~~3 W 2~2-~~
# 17 & J74 5CXW5 550 Mean: 6CXW-2 300 9.0 1 ||# 18 a AJ 4HS5 -650 Mean: 5HSS5 650 9.0 3
v 865 5DN-150 -100 3DN6 170 7.0 1 v AJT65 4SN-4 400 270  5HN6 680 9.0 1
+» AKJ974 Dif: 500 NS:2 6CXW-1 100 50 1 o AJT82 Dif: -1050 NS:-12 4HS5 650 9.0 1
aT IMP: 11 EW:10 5CXW-1 100 50 1 a8 IMP: -14 EW:-9 4HN6 680 9.0 2
4 T85 A 6CW-1 50 40 1 ||s K8764 # Q953 4HN5 650 9.0 1
v QT2 v K974 5CW-1 50 40 1 ||le7 | v9 6HS-1 100 9.0 2
+8 ¢ T52 5DN-1 50 20 1 |]|e K743 + Q95 6HN-1 100 9.0 1
& AKQJ63 & 98752 4SS-1 -50 20 1 ||a A76 & KJ953 6HXS-1 -200 -10.0 1
®IVON L, KQ9632 5S88-2 100 00 2 POIVEN L, T2 4SN-4 -400 120 1
N ~3~3~ 9AJ3 5SXS-2 300 50 1 ||N ~~5~2 ¢ KQ8432 5SN-6 600 -13.0 1
S ~3~3~ +Q63 5CXW5 550 <100 3 [[S ~~5~2 46
E 5~3~~ a4 E 1~~2~ &QT42
W 5~3~~ W1~~2~
#19 » 732 3NE3 600 Mean: 4SE-1 100 120 1 ||# 20 » AKT 3SS-1100 Mean: 3CE-4 400 9.0 1
v AKT862 4SE4 620 -570 3NE3 600 -1.0 3 v J5 2DN-3300 -20 2SS3 140 40 1
+ Q54 Dif: -20 NS:-2 4SE4 620 20 5 + QT985 Dif: 200 NS:-7  2HW-1 100 30 1
aJ IMP: -1 EW:1 3NE4 630 -20 4 a QJ2 IMP: -5 EW:2 1NN1 90 30 3
#» A98 » KQJ54 3NE5 660 3.0 1 ||a95 » Q762 3S8-1 100 20 2
v 94 v QJ7 v Q8764 + v AK3 2HW3 140 30 1
¢ J863 ¢ A97 ¢ AK743 ¢ J6 2HW2 110 -3.0 2
& AT32 & K8 &5 & 8743 3SS-2 -200 -50 1
PIVEN ,T6 ®OIVEeN ,J843 2NN-2 200 -50 1
N ~~~~~ ¢53 N 3~~2~ ¢T92 2DN-3 300 7.0 1
S ~~~~~ ¢KT2 S 3~~2~ 42
E ~2~4 4 Q97654 E ~12~~ & AKT9%
W~2~44 W~12~-~




114 E5F 2 RHERF HL
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#1: 13 Ff8(96.42) #2: 1 TEFL(78.78) #3: 3 Oceans(74.04)

1 O NS: 2R 5 EAC) 20 4 NS: fil%5 Z=5{E(F0) 15 VP:| 9.23 10.77| Total VP: 35.59 Rank:
EW: B3 M85 (BF0) -15 EW: SR THIE EEM(EAC) -2 IMP:| 23 : 25 14
_ . _ I
# 21 a J82 4HE-1 -50 Mean: 4HE-1 50 9.0 1 [|# 22 & AQ8632 5CXS6 -650 Mean: 5CXS6 650 120 2
v 85 3HE6 230 -340  3NE-1 50 9.0 1 oT 3CXS4-570 40  5CXS5 550 110 1
+ A964 Dif: -280 NS:3  3HE6 230 3.0 2 ¢ 43 Dif: -80 NS:11 3CXS4 570 110 1
» AQ75 IMP: -7 EW:-9 2HE6 230 3.0 1 » A876 IMP: -2 EW:-12 3NE-3 300 6.0 1
#» AQT95 » K6 4HES5 450 3.0 4 ||a J754 » KT9 3SN-1 50 3.0 1
v 93 v AKQJT6 4SE6 480 -40 1 ||v AQ97 _— v K6532 5CXS-1 100 -40 4
¢ T53 | * KJ7 4HE6 480 -40 1 ||e AQ95 ¢ KT8 5CXN-1 100 -40 1
& J43 & 86 3NE6 490 -40 3 ||a5 & 43 6CXS-2  -300 -8.0 1
POIVEN ,743 PIVEN , 4HW5 -650 -12.0 2
N 1~~~~ 9742 N 4~~~~ ¢J84
S 1~~~~ Q82 S 4~~~ ~ oJ762
E ~~442 aKT92 E ~34~~ aKQJT92
W ~~442 W ~33~~
# 23 » K72 3SN-1100 Mean: 4SXN4 790 130 1 ||# 24 » J6542 5DXN5 -550 Mean: 5DXS5 550 10.0 1
w74 PO o 3NXW-1 200 50 1 v A 4DS4 -130 100  5DXN5 550 100 2
+ AKJ63 Dif: 100 NS:0 2SN3 140 40 1 + AB654 Dif: -420 NS:1 4HE-3 150 2.0 1
a T32 IMP: 3 EW:3 3NW-1 100 30 2 » 86 IMP: -9 EW:-10 4DS4 130 1.0 1
4 AQ6 s 54 3NE-1 100 3.0 1 ||s KQT7 a4 A83 5CXW-1 100 00 1
v Q82 + v A9 P o 00 1||leT v QJ98542 SHXW-1 100 00 1
+ QT875 ¢ 94 4SN-1 100 30 1 ||e2 + 93 4HE-1 50 20 1
& J5 S & AQ9874 3SN-1 100 -3.0 1 ||& AQJ9752 &3 5DN-1 50 -40 1
PIVEeN ,JT983 3DN-1 100 3.0 1 PIVEN 4,9 5DXS-1 100 -50 1
N ~~23~ ¢KJT53 25S-1 4100 30 1[N ~4~~1 ¢ K763 3cwW3 110 50 1
S ~~23~ 42 2DN-1 4100 30 1([S ~4~~1 ¢ KQT7 3HE3 140 -60 3
E 2~~~1 aKé 2HN-2 200 50 1||E 3~31~ aKT4
W2~~~1 3NW3 600 -12.0 1 ||wW 3 ~31 ~
# 25 » K9652 2SN2 -110 Mean: 3NS3 400 8.0 1 # 26 & T62 2HS-2 200 Mean: 4DS4 130 40 1
v KJ4 2DN2-90 40  3SN3 140 30 1 v T6 5DS-2200 -20 3DS4 130 40 2
+ KQT Dif: 20 NS:2 2SN2 110 20 4 ¢ QT43 Dif: 0 NS:-5 3DS3 110 40 1
» Q6 IMP: -1 EW:-2 2DN2 90 20 1 » AQ94 IMP: 0 EW:5 2HS2 110 40 2
s AT s QJ43 1NS2 120 20 1 (| A7 # Q98543 4DS-1 100 20 5
v T976 v 532 3NN-1 50 3.0 2 ||e 854 + v AJ9 5DS-2 200 -50 2
¢ J943 ¢ 76 2NN-1 50 3.0 1 ||eJ5 * A2 2HS-2 200 -50 1
& K87 & AJ95 3NS-2 -100 -40 1 ||& KT7632 & 85
POVEN ,87 3NN-2 100 40 1 PIVEN LK
N ~2~22 ¢AQ8 3NS-3 150 5.0 1 N ~ 42~ ~ ¢ KQ732
S ~2~22 ¢ A852 S ~ 42~ ~ o K9876
E ~~~~~ aT432 E~~~1~ aJ
W~~~~~ Wo~~~1~
#27 s J3 3CXN-2 300 Mean: 4HW-2 100 80 1 [|# 28 » QJ43 3NE3 400 Mean: 3NW-1 50 70 2
v 752 4HW-2 -100 -220 1NE2 120 3.0 1 v Q953 3NE-1-50 -230 3NE-1 50 70 3
¢ QT52 Dif: 400 NS:8 3sw4 470 20 1 ¢ 84 Dif: 450 NS:7 1NXE2 280 -20 1
» KJ76 IMP: 9 EW:2 3HE4 470 20 2 » J87 IMP: 10 EW:5 3NW3 400 50 2
# 98764 » KQ5 2sw4 170 20 4 ||a 62 s A87 3NE3 400 50 5
v AJT3 v KQ84 3CXN-2  -300 20 1 [|e AK2 | v JT6 3NW5 460 60 1
+ AK6 ¢ 83 4HW4 -420 -5.0 4 ||e KT632 + Q95
&2 & T983 & A42 & KQ65
*eveN LAT2 ®PIVEON L KT
N11~~~ 996 N ~~~~~ ¢874
S 11~~~ ¢J974 S ~~~~~ ¢AJ
E ~~441 aAQ54 E 55~~3 aTo3
W ~~441 W55~~3
# 29 aK 3NN4 -630 Mean: 5DXN5 750 3.0 1 ||# 30 » A984 3CN3 -110 Mean: 3NS3 400 6.0 1
v K6 3NN5 -660 650  3NS6 690 1.0 1 v K2 2HE2 110 170  3NN3 400 6.0 4
¢ QT873 Dif: 30 NS:0 4HS5 650 0.0 1 + K6 Dif: -220 NS:-7  3HW-2 100 20 1
a J8742 IMP: 1 EW:1 3NS5 660 00 5 » KJ964 IMP: -6 EW:2 3CN3 110 20 3
# T953 N # Q8762 3NN5 660 0.0 2 ||a KJ32 » Q7 2SN2 110 20 1
v 9742 v J5 5DS6 620 -1.0 1 ||e AT86 v 9543 3DE-1 50 3.0 1
¢ J95 + + A6 3NS4 630 1.0 1 []|e QJ3 ¢ T9542 4CN-1 50 6.0 1
& 63 & AT95 3NN4 630 1.0 1 ||a& 72 & AT 2SN-1 50 6.0 1
PIVEeN LA 5DN5 600 -20 1 POIVEN L, T65 2HE2 110 7.0 1
N 455 ~5 ¢ AQT83 N 3~~22 ¢QJ7
S 455 ~5 ¢ K42 S 3 ~~22 ¢ A87
E ~~~~~ aKQ E ~1~~~ &Q853
W ~~~~~ W ~1~~~
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#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
1 O NS: ZABHE 5REAEAC) -6 2 NS: SOME X REEFEO) VP:| 6.86 13.14| Total VP: 42.45 Rank:
EW: & & £EZEBEI0) -8 EW: Z5iH M8 (BAC) 6 IMP:| 20 29 14
#1 a4 6SW6 980 Mean: 6SW-1 50 140 1 ||#2 a K 4SXS-3 800 Mean: 4DE-5 250 120 1
v 65 6SW7 1010 -880  4SW6 480 9.0 1 v JT 4HE5 450 -400  4HE-1 50 100 1
¢ T942 Dif: -30 NS:-4 6SW6 980 30 4 + KQT8632 Dif: 350 NS:-2 3HW-1 50 100 1
& J98742 IMP: -1 EW:3 6SE6 980 30 1 » Q98 IMP: 8 EW:9 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ 49
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE4 180 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN4 -130 Mean: 3SXW-3 800 120 1
v J74 1NE4 180 -170  1NE2 120 20 1 v J2 3SXW-3 -800 190 3NS5 660 100 1
+ K942 Dif: 0 NS:0 1NE3 4150 1.0 7 + A8 Dif: 670 NS:12 3CN5 150 1.0 1
» 842 IMP: 0 EW:0 3HW4 470 00 1 » AT953 IMP: 12 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 & Q 2CN4 130 -20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~ oA N 53 ~~3 ¢ AT3
S ~~~~~ 4 A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ93 E ~~~~~ & K874
W ~~4~3 W ~~~~~
#5 & AK8 2HE2 110 Mean: 1NS2 120 50 1 ||#6 a J73 4SW-1 -100 Mean: 6HXE-2 500 13.0 1
v T84 4CS-1100 -50 3CS3 110 40 2 v AK4 4SW4 620 -270 6SW-3 300 110 1
¢ 6432 Dif: 10 NS:-2 2NE-2 100 40 1 * T7 Dif: -720 NS:-8 4SW-1 100 9.0 3
» T54 IMP: 0 EW:2 3HE-1 50 30 1 » JT653 IMP: -12 EW:-9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 2CE-1-100 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW-1-50 Mean: 5DW-2 100 70 1
v 86542 2NE2120 -80  3CW-1 100 50 1 v 97 3NW3 400 -190  3NW-1 50 60 2
+ AK874 Dif: -220 NS:-1  3CE-1 100 50 2 ¢ 65 Dif: -450 NS:-5 3NE-1 50 60 1
a3 IMP: -6 EW:-5 2CE-1 100 50 1 # 987543 IMP: -10 EW:-6 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ NE2 120 -0 1 ||v J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 -450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 -650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 -450 400  4SN5 450 20 8 v6 4SN5 -650 590  5SS5 650 20 1
+ K6 Dif: 0 NS:2 4SN4 420 10 4 + 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: 0 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~
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#1: 13 ZZf8(121.1) #2: 3 Oceans(103.05) #3: 1 EEF.(103.03)
1 O NS: FABUHE SBEREAC) 17 8 NS: W53 AR EN(BO) 15 VP:[ 11.14 : 8.86 | Total VP: 53.59 Rank:
EW: B3 M85 (BF0) -15 EW: 15EF MEB(EAC) 1 IMP:| 27 24 14
_ __
# 11 a 52 5CXN-4 800 Mean: 3CXS3 470 130 1 ||# 12 » 962 3NE-1-50 Mean: 3NE-2 100 80 1
v T4 3CXS3-470 -330 4CN-3 150 50 1 v QT84 4NW-1-50 -240 4NW-1 50 70 1
¢ T53 Dif: 1270 NS:13 3HW3 140 50 1 + Q9653 Dif: 0 NS:7 3NE-1 50 7.0 3
» AQJ832 IMP: 15 EW:10 3HW4 170 40 1 a3 IMP: 0 EW:-7 3NE3 400 40 7
KQ7 » T963 4HW5 450 30 2 ||a KT5 » AQ4 3NE4 430 50 2
v AK8762 v J53 4HW4 -420 -3.0 7 [|v J953 I v K7
* 72 + KQJ9s 5CXN-4 800 -100 1 ||e K8 * J74
& 65 s K & K987 & AQJTS
*eveN LAJ8 ®eveN L, J373
N 3~~~1 Q9 N ~~~~~ ¢ AB2
S 3~~~1 ¢A64 S ~~~~~ o AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
# 13 » AQ7 2NS2 -120 Mean: 2NS3 150 40 1 # 14 & AK 3NW-2 -100 Mean: 3NW-2 100 30 2
v Q942 2NS-1100 0 2NS2 120 30 4 v JT53 4SW-1-50 o0 3NE-2 100 30 1
¢ 9832 Dif: -220 NS:-3 1NS2 1200 30 1 ¢ T65 Dif: -50 NS:2 5DE-1 50 20 1
»92 IMP: -6 EW:-3 1NS1 90 30 2 » 8642 IMP: -2 EW:-3 4SW-1 50 20 6
s J54 N » T632 2NS-1 100 3.0 4 ||s Q987543 sJ 3NW-1 50 20 1
v J65 v ATS 3NS-2 200 50 1 ||v AK8 v 97 3sW3 140 -40 1
+ KQ74 + *6 S22 200 50 1 ||e Ja + AK9873 sW4 70 50 1
& KT6 & QJ543 & Q & KJT7 4SW4 -420 9.0 1
®eveN ,KI8 ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~~n~~ aA87 E ~4~41 aA953
Wi1l~~~-~ W ~4~41
#15 » KJ532 4SXS4 -790 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SN7 -510 Mean: 6SN7 1010 110 1
v T94 4HW4 420 10  4SS4 620 120 4 v K5 4SS7 -510 450  4SS7 510 20 2
+ Q6 Dif: -1210 NS:-10 5HW-1 50 10 1 *5 Dif: 0 NS:2 4SN7 510 20 1
» 954 IMP: -15 EW:-13 5SXS-1 200 -50 1 » AQ9873 IMP: 0 EW:-2 4SN6 480 10 2
s Q9 a7 4HW4 420 100 5 ||a 98 s 52 4sS5 450 0.0 5
v AQ762 v KJ85 4HE4 420 100 2 ||e J832 _— v AQ764 5CN6 420 1.0 1
¢ JT8 ¢ A532 ¢ T9732 + KQsé 2NS6 240 5.0 1
& KQT & 8632 & JT & 52 6SS-1 50  -11.0 1
®9veN LATS64 ®¢veN ,AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
#17 a75 2NN2 -120 Mean: 3NS4 430 70 1 ||#18 » Q975 4SS-1 100 Mean: 5SS5 650 7.0 1
v QT98 3NN3 -400 150  3NN4 430 70 1 v KQJ82 2DXE-1-100 370 4SS5 650 7.0 2
*» QJ5 Dif: 280 NS:6 3NN3 400 60 3 . Dif: 200 Ns:-7 4SS4 620 6.0 5
» Q976 IMP: 7 EW:1 3DE-3 150 0.0 1 » AJ95 IMP: 5 EW:10 2HXW-2 300 -20 1
» AQ2 » J93 2NN3 150 0.0 1 ||a K3 # ATS 2DXW-1 100 7.0 1
v AJ53 v 642 2sS2 110 1.0 1 ||v T9753 v 64 2DXE-1 100 70 1
¢ 87432 + KT9 2NN2 1200 1.0 1 |]|e Q943 + K852 4881 100 -100 3
& & T432 3SS-1 -50 50 1 ||e Q4 & KT62
®IVON L, KT864 3NN-1 50 50 3 P¢VEN 4 J642
N 4~~32 K7 3NS-4 200 80 1[N 2~~32 ¢A
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ &873
W ~~~~~ W ~1~~~
#19 » 94 3DS5-150 Mean: 3NS4 430 70 1 [|# 20 » KJ43 3NS3 -600 Mean: 5DS5 600 70 1
v9 3DS4-130 120  3SE-2 200 20 1 v K63 3NS3 -600 300 3NS3 600 7.0 6
+ K97532 Dif: -20 NS:0 2NS4 180 20 1 ¢ JT652 Dif: 0 NS:7 2HE-2 200 3.0 1
» QJ74 IMP: -1 EW:-1 3DS5 150 1.0 2 a A IMP: 0 EW:-7 4DN5 150 40 1
» KJ65 » QT873 3DN5 150 1.0 1 ||a A65 » QT87 2SN2 10 50 1
v KQT7 v 8542 3DS4 130 00 3 ||v AJT2 + v Q985 5DN-1 100 9.0 3
* Q84 oT 3DN4 130 00 2 ||e 83 *4 3NN-1 100 9.0 1
& T9 & A53 3SE-1 100 1.0 1 ||s Q865 & J732
PEVEN LA2 3NS-1 50 50 1 POIVEN 4,92
N 55~ ~2 ¢AJ63 3NS-4 -200 -80 1 N ~5~~3 74
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97
E ~~11~ aK862 E ~~1~~ a&KT9%4
W ~~11~ W1~1~+~
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#1: 13 7R4%(134.53) #2: 1 ZEEK(110.85) #3: 3 Oceans(109.62)
1 O NS: ZREE #EEHEAC) -5 1 NS: SE3}41E 5REFH(BAO) -9 VP:| 1218 : 7.82 Total VP: 65.77 Rank:
EW: B3 M8 E EH0) 9 EW: $E{_# MEFR(BAC) 5 IMP:| 18 12 14
v N
# 21 & Q9872 4SN4 -620 Mean: 4SN6 680 50 1 ||# 22 & QJ2 3NN5 -460 Mean: 3NN5 460 1.0 1
v AQ 4SN6 -680 510 4SS5 650 4.0 1 v A74 3NN3 -400 420 3NS4 430 00 5
6 Dif: 60 NS:5 4SN5 650 4.0 4 ¢ KT8 Dif: -60 NS:-1  3NN4 430 00 6
» JT862 IMP: 2 EW:-3 4SS4 620 3.0 1 & Q976 IMP: -2 EW:-1 3NN3 400 1.0 2
4 65 s JT4 4SN4 620 3.0 3 ||a 93 # K8654
v JT82 v 965 3SN5 200 7.0 1 v KT92 — v 85
+ KQ85 | + A732 25N6 230 7.0 1 || 654 + A32
& A75 & Q93 2SN5 200 7.0 1 ||s K853 & J42
®IVEeN ,AK3 1NS2 120 9.0 1 PIVEN ,AT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT9 S ~43~4 ¢ QJ7
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NE3 600 Mean: 3NW-1 100 10.0 1 [|# 24 » A74 4HS6 -480 Mean: 4HS6 480 3.0 4
eT9 3NW3 600 -380 3NE-1 100 100 2 v KJ96 4HN5 -450 380  4HN6 480 3.0 2
¢ 762 Dif: 0 NS:-6 2HE3 140 60 2 + A874 Dif: -30 NS:2 4HS5 450 2.0 4
» KT87 IMP: 0 EW:6 3NW3 600 -6.0 5 » Q2 IMP: -1 EW:-3 4HN5 450 2.0 1
& KQ4 a J73 3NE3 600 -6.0 4 ||s Q62 a T95 4HS4 420 1.0 1
v 76 + v AKQ82 v 73 v 2 6HS-1 50 -10.0 1
¢ T54 ¢ KJ3 ¢ 9532 + KJT6 6HN-1 -50  -10.0 1
& Q9542 S & AJ & A974 & KJT65
®IVeN LAT6 ®IVeN L KJB3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ ¢AQ98 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W2~3~2 W ~~~~~
# 25 » AQT3 4DE-1 -100 Mean: 3HXN3 530 11.0 1 [|# 26 » AKQ72 4SS6 -680 Mean: 6SS6 1430 120 2
v AJ653 3HXN3 -530 -10  4SN4 420 100 1 v T73 4SS5 -650 710  6SN6 1430 120 3
¢ QT Dif: 430 NS:11 4DE-1 100 3.0 1 + KQ4 Dif: -30 NS:-2 4SSé6 680 1.0 1
» QT IMP: 10 EW:-3 2HN2 110 30 1 a K2 IMP: -1 EW:1 5SS5 650 2.0 1
s 94 » 87 48S-1 50 10 1 |]ae 4 T8 4SS5 650 2.0 3
v KQT8 v9 4SN-1 50 <10 1 ||e Q92 + B v KJ654 6SS-1 100 -130 3
+ 93 + AKJ87642 4HN-1 50 1.0 2 |]|e 8732 ¢ 65 6SN-1 100 130 1
& AJ864 & 52 4HXN-1 100 -3.0 4 || AJT876 & Q954
®IVEN L KI652 4DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1 ||N ~4 ~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NN6 990 1.0 13| |# 28 a5 4SW-1 -50 Mean: 4SW-2 100 30 3
v K7 6NN6 -990 950  5HSS5 450 -11.0 1 v Q97 2DN-3 300 -10  4SW-1 50 20 4
* KJ7 Dif: 0 NsS:1 + QJ9532 Dif: -350 NS:-7 3SW-1 50 20 1
» KQ7 IMP: 0 EW:-1 » AKS8 IMP: -8 EW:-2 2NW-1 50 20 1
4 862 s 974 & AKQ73 # 986 2SW2 110  -3.0 1
v J986 vi4 v KJ I v AT85 2SE2 110  -3.0 1
¢ 542 + AQT863 + AK84 ¢ T76 1SW2 110  -3.0 1
& T54 & 632 & 64 & T52 2sw4 170 40 1
®IvVeN I3 POVEN L JT42 2DN-3 300 7.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432
S 6~565 ¢9 S 1~~~~ o
E ~~~~~ a&aAJ9 E ~2~31 &QJ973
W ~~~~~ W~2~21
# 29 A T75 6SW6 1430 Mean: 5SW5 650 7.0 2 ||# 30 » T98543 2SN4 -170 Mean: 5HN5 450 3.0 1
v 95 6HE6 1430 -940 5SE5 650 7.0 1 v KJ83 4SN4 -420 360  4HN5 450 3.0 5
¢ 965 Dif: 0 NS:-10 5SW6 680 6.0 1 ¢ K4 Dif: 250 NS:2 4SN4 420 20 4
» JT954 IMP: 0 EW:10 5HE6 680 6.0 1 s K IMP: 6 EW:5 3SN4 170 50 1
& AJ982 N » K64 4sW7 710 60 1 ||a AQ7 » K2 2SN4 170 50 2
v 642 v AKQJ7 4SW6 680 60 1 42 v Q95 2Cs5 150 50 1
o AK4 -|— .8 4HEG 680 60 1 ||e JO873 + QT652
& Q8 & K632 3NW6 690 6.0 1 ||a& 432 & QJ7
P¢VEN ,Q3 6SW6 1430 -100 1 POIVEN L, J6
N ~~~~~ ¢T83 6HE6 -1430 -100 2 ||N 4 ~ 5 4 3 « AT76
S ~~~~~ oQJT732 6NW6 1440 110 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~
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#1: 13 721 (149.9) #2: 1 ZEER(126.6) #3: 14 Catchall(120.35)
1 O NS: ZABHE 5REAEAC) -2 7 NS: ZRiEs 2=k F(BAO) -1 VP:| 12.83 : 7.17 Total VP: 78.60 Rank:
EW: &5 2ZEEI0) 11 EW: Bi5#E StIE(EAC) 2 IMP:| 34 26 12
- S
#1 & J75 2SW4 170 Mean: 3NE-2 100 70 1 ||#2 » Q832 4SS4 -620 Mean: 5HXW-4 800 6.0 1
v 876 2CS-2100 -200  3NE-1 50 60 1 v 98 4SS4 -620 580  4SS4 620 1.0 10
+ Q85 Dif: 70 NS:3 2CS-2 100 3.0 1 + KQ9 Dif: 0 NS:1 4SN4 620 1.0 2
& QJ43 IMP: 2 EW:-1 3SW3 140 20 1 & Q943 IMP: 0 EW:-1 4SN-1 -100 -12.0 1
» QT93 s AK4 2NE3 150 20 2 KT a 764
v KT4 v QJ52 1HE3 140 2.0 2 ||e QT742 I v KJ53
¢ AT6 ¢ J973 2sw4 -170 1.0 1 + 876 ¢ T542
& K9 &T5 3NW3 400 50 2 ||& AT7 & 52
PIVEN 4862 3NE3 -400 50 3 PIVEN , A5
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE-1-100 Mean: 3NW-4 400 80 3 ||#4 # KT65 4HE4 620 Mean: 4HE-2 200 6.0 1
v A864 3NW-4 -400 70 6DW-2 200 40 1 v J83 4HE-1 -100 -40  4HW-1 100 40 1
¢6 Dif: 300 NS:8 5DE-1 100 1.0 3 T Dif: 720 NS:4 4HE-1 100 40 9
» 865 IMP: 7 EW:-1  3NW-1 100 1.0 1 » KQ852 IMP: 12 EW:11 4HE4 620 -11.0 3
4 AT52 s J 3HW-1 100 1.0 1 4 AJ94 s Q2
v KQ3 v T52 1NW-1 100 1.0 1 [|v AQ75 + v K9642
* A2 + QJT8543 4DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE4 130 50 1 ||a6 & AJ3
®IVeN L KI6 2SN-2 100 50 1 PIVEN L, 873
N ~~~1~ ¢J97 5DE5 600 120 1 |[N 3 ~~~~ T
S ~~~21 ¢K97 S 3~~~ ~ o AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 5CN-1100 Mean: 3NS6 690 100 1 [|# 6 » A87 4SS5 -450 Mean: 4SS6 480 10 3
v 82 3HE-3 -150 220 3NS5 660 10.0 1 v J2 5SN5 -450 450  4SN6 480 1.0 1
¢ 53 Dif: 250 NS:-2 3NS4 630 9.0 1 + AQJT6 Dif: 0 NS:0 5SN5 450 0.0 1
» AQJ96542 IMP: 6 EW:8 4HE-4 200 1.0 1 » KJ2 IMP: 0 EW:0 4SS5 450 0.0 3
s Q94 & 7632 4CN5 150 2.0 1 ||a 532 s Q 4SN5 450 0.0 3
v J753 v AT94 3HE-3 150 2.0 2 ||e AQT —_ v K874 4S5S4 420 1.0 2
+ AK84 ¢ J76 4CN4 130 3.0 3 ||e K93 o 8754 4SN4 420 1.0 1
& K8 & 73 3CN4 130 3.0 2 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -80 1 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 3NS-1 -100 -8.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-1-100 Mean: 3NE-6 600 9.0 1 ||#38 a T2 1SS3 -140 Mean: 1NS4 180 20 1
v KT6532 4HXN-2 500 200 3NW-5 50 7.0 1 v JT954 1NXE-1 -100 110  3HN3 140 10 1
* J6 Dif: -600 NS:-12 3NE-5 50 7.0 1 + AQ9 Dif: -40 NS:0 2SS3 140 10 1
aT8 IMP: -12 EW:3 3NE-4 400 50 2 » 962 IMP: -1 EW:-1 2HS3 140 10 3
s QT7 & AK94 3NE-3 300 3.0 1 ||a J94 s 875 2DS4 130 1.0 1
v QJ + v7 5CW-2 200 0.0 1 || K863 v A7 1883 140 10 2
¢ T95 + K732 3NW-2 200 00 1||eJd5 * 8732 2HS2 110 00 1
& AKQ42 S & 7653 5CW-1 100 3.0 3 ||a JT87 & AK53 1NXE-1 100 00 1
PIVEN ,J52 4CW-1 100 3.0 1 ®¢VE®N 4, AKQ63 2DS2 90 1.0 1
N ~~ 2~ ~ ¢ A984 3CW3 410 70 1 ||N ~3221 ¢ Q2 2CE-1 50 20 1
S ~~2~~ 4AQ84 4HXN-2 500 -12.0 1 ||S ~3 221 o KT64 3DS-2 100 -50 1
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 2CXE-1 -200 Mean: 3NS6 490 60 2 |(|#10 » T9876 4HXE-1 -200 Mean: 4SE-2 200 80 1
v 93 3NS6 -490 230 3NS5 460 60 2 v KQT2 4HE4 620 -140  4HXE-1 200 80 2
+ QT9862 Dif: 290 NS:6 3NS4 430 50 2 * T2 Dif: -820 NS:-10 4HW-1 100 60 3
aA IMP: 7 EW:1 3NN4 430 50 1 » Q8 IMP: -13 EW:-8 4HE-1 100 60 1
# 96543 a2 2CXE-1 200 1.0 1 [|a J532 » AQ4 3CS-1 100 1.0 1
v Q4 v KJT72 3DN6 170 2.0 1 ||e 987653 + v AJ 3HW3 140 0.0 1
+ AJ3 75 5DN-1 50 7.0 4 ||ed + AK985 3HW4 470 1.0 1
& Q96 & T8742 6DN-2 100 -80 1 ||a 74 & AT6 4HE4 620 -100 3
®IVEeN LAQ7 PIVEN LK 3CXN-3  -800 -12.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532
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#1: 13 JE1E(165.65) #2: 3 Oceans(133.74) #3: 1 BEFK(129.26)
1 O NS: ZREE 5 HEAC) 2 5 NS: [RiZ: B E/(BO) 3 VP:| 9.61 10.39| Total VP: 88.21 Rank:
EW: FaBiE RERABHO) -3 EW: 3IIER] BRFR(FAC) -2 IMP:| 25 : 26 12
. S ———————————ry—
# 11 » K98 4HS6 -480 Mean: 4HS6 480 1.0 3 ||# 12 & K9874 4HE5 450 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 -460 450  4HS5 450 00 8 vdJ 3NW5 460 -440 4HW4 420 1.0 1
+ AQ64 Dif: 20 NS:0  3NN5 460 00 3 ¢ KT4 Dif: -10 NS:-1  4HW5 450 0.0 6
#» K853 IMP: -1 EW:-1 » AQ84 IMP: 0 EW:0 4HES5 450 0.0 2
a J74 & A6532 4 Q53 a AJT2 4HW6 -480 1.0 1
v 65 v K82 v AQT7 I v K8643 3NW5 -460 1.0 2
¢ T732 ¢ 85 * AT2 + Q83 2SXN-3  -800 -8.0 1
& AT42 & QJ7 & K97 T
®IVeN LQT *eveN L6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 S 3NN4 -630 Mean: 6CS6 1370 120 3 ||# 14 » KQ96532 6HXE7 1310 Mean: 6CE-3 150 130 1
v Q9872 6CS6 -1370 660  3NS6 690 1.0 1 o 3NW5 460 -690 4HE4 420 7.0 1
« KJ954 Dif: 740 NS:12 5SS5 650 0.0 1 o K74 Dif: 850 NS:6 3NW5 460 6.0 1
» Ad43 IMP: 12 EW:1 4SS5 650 0.0 3 » KQ7 IMP: 13 EW:12 4HE6 480 50 5
& T952 N a J73 4NN4 630 1.0 1 ||a AJ7 s 84 4SXN-4  -800 3.0 1
v6 v KT543 3NN4 630 1.0 2 ||leQ v AKJT952 6HE6 980 7.0 2
+ AQTT72 —I— + 863 3CS5 150 -11.0 1 ||e AQJ962 S 6HXE6 41210 110 1
& KT8 & 62 4HN-1 100 130 2 ||& T64 & AJ95 6HXE7 1310 120 2
®+VveN L AKQS64 *eveN T
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 S ~~~~~ 47T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 -110 Mean: 1NN3 150 2.0 2 [|# 16 » K5 1CW-2 -200 Mean: 2SE-3 300 30 1
v KJT7 INE-2-100 70  1NN2 120 20 1 v QT97 2NS4 -180 180  1CW-3 300 3.0 2
¢ QT5 Dif: -10 Ns:1 2Ss2 110 1.0 2 + KJ86 Dif: 20 NS:0 1CW-2 200 1.0 2
& A954 IMP: 0 EW:-1 1NE-2 100 1.0 4 a J63 IMP: -1 EW:1 2NS4 180 00 4
4 964 & A87 1NE-1 50 1.0 3 [|e AJT8 4 Q643 2NS3 150 1.0 2
v Q95 v A643 2881 100 <50 1 ||v KJ54 —_ v 832 1NS3 150 1.0 2
+ KJ82 ¢ A7 2Ccs-1 100 50 1 ||e AT ¢ 953 3NS-1 50 6.0 1
& 872 & QJ63 & 87 & Q42
®IVeN L KJIT53 ®IVEeN L0972
N ~2~21 ¢82 N 44~~3 v A6
S ~2~21 9643 S 44~~3 4Q742
E ~~~~~ aKT E ~~~~~ aAKT9
W ~~~~~ W~~~~~
# 17 » AJ9762 4SN5 -450 Mean: 4SN6 480 50 1 ||#18 » T8543 1NW4 180 Mean: 2NE2 120 3.0 1
v T85 3SN4 -170 280  4SN5 450 50 2 v QT6 1NW4 180 -220 1NW2 120 3.0 1
o AKT Dif: -280 NS:-3 4HN5 450 50 1 * K2 Dif: 0 NS:1  1NW3 150 2.0 4
a7 IMP: -7 EW:-5 4SN4 420 40 1 » Q73 IMP: 0 EW:-1 1NW4 -180 1.0 3
4T3 » Q854 4HS4 420 40 1 ||s A2 » KQJ6 1NE4 180 1.0 1
v 963 v K74 4HN4 420 40 1 ||w 7543 | v A82 3NW3 400 50 2
¢ 8732 + Q5 2SN5 200 -20 3 ||e QJTS + A3 3NE4 430 50 1
& KQ52 & AJT9 3SN4 170 3.0 1 ||& K65 & T982 3NE3 400 50 1
POVEN LK 2NS2 120 40 2 POIVEN ,097
N ~5653 vAQJ2 3NS-1 50 80 1||N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W3~3~3
#19 » Q6 4HN5 -450 Mean: 6DS6 920 100 1 [|# 20 » KQ8 4HN4 -620 Mean: 4HS4 620 8.0 4
v QJ8B73 2NN6 -240 470  5HN6 480 00 2 v KT42 4HS-1100 260  4HN4 620 80 3
o A732 Dif: 210 NS:-6 4HN6 480 00 2 + K8 Dif: -720 NS:-8 1NN1 90 50 1
» 54 IMP: -5 EW:1 4HN5 450 1.0 6 » AK43 IMP: -12 EW:-8 4HS-1 100 -80 3
& AT952 s KJ743 5DS6 420 20 2 ||aT6 & A542 4HN-1 100 -80 1
v 652 v K4 2NN6 240 60 1 ||e A3 + v Q9 2NN-1 100 -80 1
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -10.0 1
& Q3 & JT986 & 9872 & Q65
®IVeN o8 ®IVEeN L J973
N ~66 ~2 ¢AT9 N ~~3 2~ ¢J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W ~~~2-~ W~2~~1
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#1: 13 218(180.19) #2: 14 Catchall(140.13) #3: 3 Oceans(139.74)
1 O NS: #4858 BT BHO) -9 11 NS: FFHIEZ FEEZES)(BAg VP:| 2.84 17.16| Total VP: 91.05 Rank:
EW: FaBiE BREAEIC) -20 EW: RHET SHET(F( IMP:| 9 35 13
_ -
# 21 » 87 2HS5200 Mean: 4SS5 650 100 1 ||# 22 » 832 4CXS-1-100 Mean: 4SXW-2 500 100 3
v AQ3 4SS4 620 220  4HS5 650 100 2 v 9764 5DS5400 30  5DS5 400 9.0 1
+ A865 Dif: -420 NS:-1 4SS4 620 9.0 3 + K873 Dif: -500 NS:-4 3SXE-1 200 50 1
& J543 IMP: -9 EW:-9 2HS5 200 1.0 1 » 96 IMP: -11 EW:-9 3HW-1 100 20 1
» JT93 s K 6HS-1 100 -80 2 ||a QJ9765 & AKT4 2Ccs3 110 20 1
vT v 9654 5HS-1 100 -80 2 || J832 _— v QT 4DN-1 50 =20 1
* QT2 | ¢ K9743 4HS-1 100 80 1 ||e Q5 ¢+ T64 4CXS-1 100  -40 1
& T872 & A96 6HS-2 200 90 2 ||a4 & KQT8 4HN-3 150 5.0 1
®*¢VeEN 4, AQ6542 PIVEN , 4HN-4 -200 -6.0 1
N ~~54 2 ¢KJ872 N 342~1 ¢ AK5 4CS-4 -200 -6.0 1
S ~~542 S 342~1 ¢ A2 6DXN-2  -300 -80 1
E ~~~~~ akKaQ E ~~~2~ aAJ7532 4CXS-4  -800 -13.0 1
W ~~~~~ W ~~~2~
# 23 a3 3NS-2-200 Mean: 4HS4 620 11.0 1 ||# 24 s Q5 4SE-1 50 Mean: 4SE-2 100 50 1
v AT84 3DN3 110 80  3DXS3 670 11.0 1 v QJ943 2SE3 -140 -80  4SE-1 50 40 4
+ AQJ7532 Dif: -310 NS:-7 2DXN2 180 3.0 1 ¢5 Dif: 190 NS:4 3sw3 140 20 1
a5 IMP: -7 EW:-1 3DS3 110 1.0 1 » QU872 IMP: 5 EW:2 3SE3 140 20 6
» KQ8 a T974 3DN3 110 1.0 6 ||a JT & AK9876 2SE3 140 20 1
v K2 + v Q93 4HN-2 200 7.0 1 || T82 v K5 4SE4 420 -80 1
¢ KT94 + 86 3NS-2 -200 7.0 1 ¢ 97632 + KQ
& A983 S & KQ72 4HN-3 -300 9.0 1 ||a A94 & KT3
®IVEN AAJ652 4DN-3 300 9.0 1 PIVEN 4432
N ~33~~ ¢J765 N 1~2~~ ¢ A76
S ~33~~ S 1~2~~ o AJT84
E 1~~11 aJT64 E ~2~23 a65
Wi1i~~11 W ~1~21
# 25 » AT952 2HS3 140 Mean: 2HS3 140 40 2 ||# 26 » 7542 3CS3110 Mean: 3NS3 600 11.0 1
v 752 2HS2 110 -20  2HS2 110 40 1 v 92 2NS2120 80  3DE-3 300 60 1
+ A654 Dif: 30 NS:4 4HS-1 50 1.0 3 * AQJ7 Dif: -10 NS:1  1NS3 150 20 1
aT IMP: 1 EW:-4 3HS-1 50 1.0 2 » Q73 IMP: 0 EW:-1 3CS3 10 1.0 2
a J4 & KQ873 3DN-1 50 1.0 2 ||a J986 & AK3 2NS2 1200 10 1
v KJ8 v 94 4HS-2 4100 20 3 ||e AQT7 + v 854 2Ccs3 10 1.0 1
¢ KT32 +QJ 2SN-2 100 20 1 ||e KT82 ¢ 543 1NS2 120 10 1
& K642 & 9875 &5 & 9862 1NN2 120 10 1
POVERN L6 POVEN L QT 3NS-1 100 50 1
N ~23~~ ¢ AQT63 N 3 ~~~~ ¢ KJ63 2CS-1 100 -50 1
S ~23~~ 4987 S 3~~~~ 496 1NS-1 100 50 1
E 1~~~~ aAQJ3 E ~111~ aAKIT4 1NE1 90 50 1
W1~~~~ W~111-~ 1NS-2 200 7.0 1
#27 & KJ96 1NW1 -90 Mean: 3NW-1 50 50 6 ||# 28 s QJ2 4HS-2 -200 Mean: 5DXW-4 800 13.0 1
v 654 3HW4 -170 -120  1NW1 9 1.0 1 v Q652 4HS-1-100 -30  2HS3 140 50 1
¢ 986 Dif: 80 NS:1 3HW4 170 -20 2 ¢+ Q2 Dif: -100 NS:-5 2HS2 110 40 1
753 IMP: 2 EW:2 2HWA4 470 20 2 » AKJ4 IMP: -3 EW:2 4HS-1 100 20 6
74 4 ATS 4HW4 420 70 2 ||s KT83 # 954 4HS-2 200 50 2
v AK98 v QT32 3NW4 430 70 1 ||e K | v T984 4HN-2 200 -50 3
+ KQ54 ¢ T72 ¢ AJ7654 + K83
& QJ9 & KT4 & 65 & T97
®*eveN o, Q832 ®IVEON L A6
N ~~~~~ 9J7 N 3~3~1 o AJ73
S ~~~~~ ¢AJ3 S 3~3~1 ¢T9
E ~34~2 aA862 E ~~~~~ &Q832
W ~34~2 W ~~~~~
# 29 » K94 4SS6 680 Mean: 5HXW-3 800 3.0 1 ||# 30 » KT5 4CE4 -130 Mean: 5CXE-1 100 40 2
v KJ2 4SS5650 680  4SXS4 79 3.0 1 v AT8632 5CE-150 -60 5CE-1 50 30 1
64 Dif: 30 NS:0 5SS6 680 0.0 2 ¢ T2 Dif: -180 NsS:-2 A 00 4
» K9764 IMP: 1 EW:1 4SS6 680 0.0 5 » 96 IMP: -5 EW:-3 4HN-2 100 1.0 1
# 863 N a7 4SS5 650 -1.0 4 ||a 98 # 432 4DE4 130 20 1
v Q9743 v A865 484 620 20 1 ||e5 v K97 4CW4 130 20 1
* T3 + + QJ87 + KJ865 + AQ9 4CE4 30 20 4
& J52 & AQT3 & AKJ43 & T872
P¢VEN L, AQIT52 PIVEeN L, AQJ76
N ~3~53 T N ~~22~ ¢QJ4
S ~3 ~53 ¢ AK952 S ~~22~ 4743
E ~~2~~ a8 E 44~~1 Q5
W ~~2~~ W 44~~1
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#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

NS: ZREE #FEHEAC) -7 6 NS: 52)8 8l FEXF(BJO) -1 VP:| 13.14 : 6.86 Total VP: 104.19 Rank:
EW: B3 M8 E EH0) 13 EW: 828X T4 (BiC) IMP:| 27 : 18 12
— - E—
» 832 4HE6 480 Mean: 4SE6 480 3.0 1 |[|#2 » QJ94 5DS6 -620 Mean: 6DS6 1370 100 5
v J6 4SE5 450 -570 4SES 450 3.0 2 v KQJ8 5DS6 -620 900  6DN6 1370 100 1
¢ J87654 Dif: 30 NS:3 4HW6 480 3.0 4 *J7 Dif: 0 NS:-7 3NS7 720 5.0 1
a Q4 IMP: 1 EW:-3 4HE6 -480 30 3 » 762 IMP: 0 EW:7 4SS6 680 6.0 2
» KQT64 3NW6 490 2.0 1 ||e KT852 s 73 5DS6 620 7.0 4
v 9543 6CW6 920 80 2 ||w 52 | v T7643 3NN-1 100 140 1
. 6HW6 980 90 1||eQ + 98
& AT92 & AK543 & JT98
» J97 ®IVeN L A6
v QT8 N ~6~~2 vA9
¢ AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
» J83 E~~~~~aQ
W ~~~~ ~
» KQT 3NS-2100 Mean: 3NS4 430 70 1||#4 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 2NS2 -120 140  3NS3 400 60 1 v A64 3NXN-1200 80  3CS4 130 20 2
+ AB2 Dif: 220 NS:-1 2NS4 180 1.0 1 ¢ 9765 Dif: -330 NsS:-7 2CS4 130 20 7
» JT654 IMP: 6 EW:6 1NS4 180 1.0 1 » 95 IMP: -8 EW:-2 2CN4 130 20 1
s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v J6 2Ccs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
¢ Q743 1NS3 150 0.0 1 [|e T82 ¢ AQ3 3NXN-1 200 -70 1
& A987 3Cs3 110 1.0 1 ||s KQ2 & T6
» A84 2NS2 120 1.0 1 POIVEN 4 A7
v T832 2CSs3 110 1.0 1 N 43~42 o9
*» KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
» KQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
3NS-2 100 60 1 ||W ~~~~ ~
» 653 1NW2 120 Mean: 4HS4 620 120 2 ||#6 » AT632 4SN-2 100 Mean: A4CE-2 200 50 1
v AJ6542 3HS4-170 o 5CXW-2 300 70 1 v AT73 4DS4 130 20 4DS4 130 3.0 1
* Q2 Dif: 290 NS:5 3HS4 170 50 1 ¢ T6 Dif: 230 NS:3 3SN3 140 30 1
A T6 IMP: 7 EW:3 4HS-1 100 30 3 » J9 IMP: 6 EW:3 3DS3 110 30 1
s T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 <40 1 ||e 4 ¢ 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN ,AJ4 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
& A96 4SS5 -650 Mean: 4SS5 650 9.0 1 ||#38 » Q54 3NW3 400 Mean: 3NW-2 100 100
v QJ84 5DXE-1-200 240  4SS4 620 9.0 3 v Q7 3NW3 400 -370 3NW3 -400 -1.0
. Dif: -450 NS:-1 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 2.0
» KQ9865 IMP: -10 EW:-9 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460  -3.0
aT 3CN4 130 3.0 1 97 & AJT62
+ v T53 5DE1 100 40 1 ||v A9853 v KT
o+ AJ9654 588-1 100 -80 1 ||e AK6 + JT83
S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
» KQJ54 P¢VeSN , K83
v A7 N ~~~~~ ¢ J642
~ ¢ T83 S ~~~~~ 4Q7
1 743 E ~4453 & Q654
1 W ~4453
» KT43 6NN-2 100 Mean: 4NN4 430 50 1 ||#10 » 32 1NW1 90 Mean: 3SW-2 200 80 1
v K3 6NN-150 260 4HS5 450 50 1 v KT832 4SW-1-100 -130 4SW-1 100 60 1
+ Q54 Dif: 50 NS:-7 3NS5 460 50 1 * K8 Dif: 190 NS:6 2HN2 110 60 1
» AK63 IMP: 2 EW:8 3NN5 460 50 5 » AT74 IMP: 5 EW:-1 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
vJ v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
3 *2 5HN-1 50 7.0 1 ||e A4 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
& AQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N v AQ875 N 2~3~~ Q9%
S ¢ K76 S 2~3~~ 49732
E a J4 E ~2~21 &KQ3
w W ~2~21




X AN 33z 4 R
14 1142 E< 3 2RAHEHRE L2 == R4 14
L v v
Ve
#1: 13 ZfR(201.62) #2: 12 FLA(169.13) #3: 1 FEK(162.79)
1 O NS: FABHE BEREAC) -21 9 NS: #i5 5RZKI2(BAO) -1 VP:| 7.49 12.51| Total VP: 111.68 Rank:
EW: #F5tH £FEEH0) 15 EW: 275 EBFSZ(BAC) 21 IMP:| 7 14 13
_
# 11 & AJ6 2SS3 -140 Mean: 2SS3 140 1.0 6 ||# 12 & 87542 5CN-1100 Mean: 3NN4 630 9.0 1
v JT3 2SS2-110 120  1NS3 150 1.0 1 v AK5 6CN-1100 260 5CN5 600 80 2
¢ J87 Dif: -30 NS:0 2SS2 10 00 5 ¢ A Dif: 0 NS:-8 4HS4 620 80 1
» Q984 IMP: -1 EW:-1 3DW-2 100 1.0 2 a AJ32 IMP: 0 EW:8 3NS3 600 80 2
» KQ » 832 » K9 » JT63 3NN3 600 80 1
v K4 v Q8765 v QJ2 | v T74 2SN2 10 40 1
¢ T96532 + K ¢ J9764 + KQ852 6CN-1 -100 -80 1
& A75 & JT63 & QT7 &5 5CN-1 100 -80 2
®eVeN ,T9754 *¢veN L AQ 3NS-1 100 -80 1
N ~~~33 ¢A92 N 5~433 ¢ 9863 3NN-1 100 -80 1
S ~~~33 ¢+AQ4 S 5~433 ¢T3 2SN-1 100 -80 1
E ~~~~~ aK2 E ~ 2~~~ & K9864
W ~~~~~ W ~2~~~
#13 » 854 4HW-1 -100 Mean: 5DXN5 750 110 1 ||# 14 » A3 4HN4 -420 Mean: 3NS5 460 2.0 1
v J872 4HW-2 -200 230  4NE-5 500 7.0 1 v Q7642 4HN-150 410  3NN6 490 20 2
+ AJ85 Dif: 100 NS:-1  3NW-4 400 50 1 * 94 Dif: -470 NS:-10 3NN5 460 2.0 7
» K2 IMP: 3 EW:4 4HW-2 200 1.0 8 » AK63 IMP: -10 EW:0 4HN4 420 00 3
A3 N s Q72 4HW-1 100 40 1 62 s QJT94 4HN-1 50 100 1
v AKQT54 v 963 3HW-1 100 40 1 v AT953 vdJ
¢ T6 + + Q3 1HW2 110 80 1 ||e 875 + QT
& AQJ & T9854 & J87 & QT942
PIVESN L, KJITI6 ®¢VeSN , K875
N ~5~4~ 49 N ~54~5 ¢ K8
S ~ 5~ 4 ~ ¢ K9742 S ~54~5 ¢ AKJ632
E 2~2~~ a763 E ~~~~~ a5
W 2~2-~~ W ~~~~~
#15 » QJT42 4SN6 -680 Mean: 5CXE-6 1400 120 1 [|# 16 » QT32 3NE4 630 Mean: 4HE-1 100 120 1
v AQT 4SN6 -680 760  5CXE-4 800 10 2 v K94 4HE4 620 -560 3NE3 600 1.0 5
o AK94 Dif: 0 NS:-2 5SN7 710 20 2 *6 Dif: 10 NS:-2 4HE4 620 -20 2
a7 IMP: 0 EW:2 4SN7 710 20 6 » J9873 IMP: 0 EW:2 3NE4 630 -20 5
73 » K6 4SN6 680 -20 3 ||a K4 s AJ8 4HES 650 3.0 1
v KJ72 v 843 v T76 — v AQ852
¢ 853 ¢ QT ¢ QT743 * AJ
& Q842 & KJT963 & KQ6 & T42
®eveN ,A985 ®IVeN o, 09765
N ~7~77 v95 N ~~~~~ ¢J3
S ~7~77 ¢J762 S ~ ~ ~ ~ ~ 4 K9852
E ~~~~~ aA5 E ~44~4 aA5
W ~~~~~ W ~44~4
#17 aA 5CN-150 Mean: 5SXE-1 100 50 1 [|#18 # 654 3SS-1100 Mean: 1SS3 140 50 1
v KQJ75 5SXE-1-100 -70  4CN4 130 50 1 v A983 3SS-1100 -30  5CE-2 100 40 1
¢ 98 Dif: 150 NS:5 5CN-1 50 1.0 8 ¢ J642 Dif: 0 NS:-2 3NW-2 100 40 1
a AK952 IMP: 4 EW:-1 5CN-2 100 1.0 1 & JT IMP: 0 EW:2 2sS2 10 40 1
» K95 » QJT842 2SE4 4170 30 1 ||a A8 » 732 35S-1 100 -20 3
v AT843 v 92 4HN-5 250 50 1 Q2 | v J64 3CE3 10 20 2
* KJ76 ¢ A5 4SE4 420 80 1 ||e QT873 * A9 2CE3 410 20 1
&4 & T73 & Q853 & AK764 1NW1 -90 20 4
®IVeN ,763 ®eveN L KQTO
N4d~~~~ ¢b N ~~22~ ¢KIT75
S 4 ~~~~ oQT432 S ~~22~ ¢K5
E ~~~4~ aQJ86 E 32~~1 &92
W ~~~4~ W32~~1
# 19 4 T6 2SW4 170 Mean: 4SW-1 100 9.0 1 # 20 & AJ7652 2SN4 -170 Mean: 4SN4 620 90 3
v 9873 2SE5200 -280 2SW3 140 40 2 v T984 3CW-1-100 220 2NS6 240 10 1
+T9 Dif: -30 NS:2 2SE3 140 40 1 + KT5 Dif: -70 NS:-3 2SN5 200 1.0 1
» 79843 IMP: -1 EW:-3 2SW4 470 3.0 2 ry IMP: -2 EW:2 3HN4 170 20 1
# A85432 » J9 2SW5 200 20 2||aKaQ » 983 2SN4 170 20 3
v Q5 v AT4 2SE5 200 20 2 ||v Q763 + v 52 3CW-1 100 30 4
*Q « AJ6542 4SW4 620 80 2 ||eJ7 + Q643 2NS-2 200 9.0 1
& AQ52 a J7 3NE4 630 80 1 ||a A9643 & KQJ5
PEVEN HLKQ7 3NE3 600 80 1 POIVEN L, T4
N ~~~~ ~ ¢ KJ62 N ~3341 v AKJ
S ~~~~ ~ 4 K873 S ~3341 ¢ A982
E ~3~43 aK6 E 1~~~~ &T872
W ~3~43 W 2~~~+~




X AN 33z 4 R
15 1142 E< 3 2RABEHRE L2 == RIS 15
L M L
Vo axq
#1: 13 B (214.45) #2: 12 FLA(183.13) #3: 7 Cyclops(174.99)
1 O NS: FABHE BERAEC) -30 2 NS: EEZ RENE(BAO) -9 VP:| 3.61 16.39| Total VP: 115.29 Rank:
EW: B3 M8 E EH0) 9 EW: Z5iH MIER(BAC) 30 IMP:| 16 38 14
I - N
# 21 » 87 4SW5 450 Mean: 6SW-1 50 100 1 |[# 22 & KT942 2HW3 140 Mean: 4HW-1 100 50 1
v A864 4SW5 450 -410 4SW5 450 1.0 11 v K6 2HW3 140 70  2SN2 10 50 1
¢ QT764 Dif: 0 NS:-1 4SE5 450 1.0 1 + AJ82 Dif: 0 NS:-2 3SN-1 50 1.0 2
» 86 IMP: 0 EW:1 4SW6 480 20 1 a T3 IMP: 0 EW:2 2SN-1 50 1.0 2
» KQ952 s AJ43 Q6 » J85 3SN-2 100 1.0 2
v K7 v QJT2 v Q9743 _— v AT8 3SN-3 150 20 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 #» KJ985 2HW3 140 20 2
®¢VON ,T6 PIVEON AAT3 2HW4 470 3.0 1
N ~1~~~ 9953 N ~1~1~ ¢J52
S ~ 1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 3NE5 660 Mean: 6SW-1 100 13.0 1 ||# 24 » Q4 5DW-2 -100 Mean: 3NW-3 150 80 1
v 976432 5HXN-3 800 -710  4SW5 650 20 7 v 9842 3NE4 430 -190 5DW-2 100 70 1
¢ J542 Dif: -140 Ns:-3 3NE5 660 20 1 ¢ 98 Dif: -530 NS:-6 3NW-2 100 70 4
a»2 IMP: -4 EW:-2 4SWé6 -680 1.0 2 & J7532 IMP: -11 EW:-7 3NW3 -400 -5.0 1
# AK873 s J94 5HXN-3 800 -3.0 1 ||aJ2 & AT75 3NE3 400 50 2
v + v K85 6CE6 1370 120 2 || JT53 v KQ7 3NW4 430 6.0 1
+ Q97 + K6 + AKQT2 « J764 3NE4 430 60 4
& KQ543 S & AJI76 8 & K9
®IVON o652 ® eV eON L KOS63
N ~~~~~ ¢ AQJT N 3~~~~ vA6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 aAQT6
W 6~~54 W ~32~-~
# 25 » 9872 6SE6 1430 Mean: 6SE-1 100 140 4 ||# 26 » 52 3CS-1100 Mean: 3SW-2 200 70 1
v J7 6SE6 1430 -830  4SE6 680 40 1 v AKQ9 3CS-1100 -70  1NS2 1200 50 1
+ KT64 Dif: 0 NS:-12 3NW6 690 40 1 + K65 Dif: 0 NS:-1  3CS-1 100 1.0 8
» K73 IMP: 0 EW:12 3NE6 690 40 1 » J972 IMP: 0 EW:1 2SW2 110 1.0 3
46 & AKQJT53 6SE6 1430 120 7 ||s AKQ986 » J4 3NS-2 200 -40 1
v AT986 v Q4 v 76 + v 8543
¢ AJ3 ¢ Q5 + QT84 ¢ 932
& QJT9 & A8 & K &« QT83
®IVEON o4 ®IvVeN ,T73
N ~~~~~ ¢K532 N 2~2~1 ¢JT2
S ~ ~~~~ 49872 S 2~2~1 ¢AJ7
E 4~566 &6542 E ~1~1~ aA654
W 5~666 W~1~1-~
#27 & AQ5 4HXE4 590 Mean: 5CXN5 550 10.0 3 ||# 28 » A9 3NS4 -630 Mean: 4SXS5 990 10.0 1
vd 5CXN5-550 120  4CXN5 610 10.0 1 T 5SN-2200 540 3NS5 660 3.0 1
4 65 Dif: 1140 NS:10 5HXE-2 300 50 1 + QJ974 Dif: -830 NS:-12 3NS4 630 3.0 7
» J987632 IMP: 15 EW:12 4CN5 150 1.0 1 & AQT76 IMP: -13 EW:-3 4SS4 620 20 2
» K8762 s 94 4HE-1 50 20 3 ||a J742 s T8 3NS3 600 20 1
v KQ73 v A9865 3HE3 140 60 3 [|w 95 | v KQ86432 6SS-1 100 120 1
¢ J82 + KQT4 1NN-2 4100 60 1 ||e K863 * A 5SN-2 200 120 1
a4 & KT 4HXE4 590 120 1 ||a& J92 & 854
®IVeN LT3 ®+ve®N L KQ653
N 5~~~2 ¢JT2 N 55~44 ¢AJ7
S 5~~~2 ¢A973 S 55~44 ¢ T52
E ~131~ aAQ5 E ~~~~~ aK3
W~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 5HNS5 650 30 1 # 30 & T93 3NN3 -400 Mean: 4SS5 450 6.0 1
v AQJ97 2NS4 -180 540  4HN5 650 3.0 2 v A97 4SS4 -420 210  4SS4 420 50 5
¢ J5 Dif: -440 NS:-8 4HN4 620 20 9 + KQ96 Dif: 20 NS:5 3NN3 400 50 1
» AB65 IMP: -10 EW:-2 2NS4 180 8.0 1 » K63 IMP: 1 EW:-5 3SS4 170 1.0 2
& AT74 N » J85 5HN-1 100 120 1 ||a AJ7 » 82 4881 50 6.0 4
v KT2 v 86 v Q642 v T53 3NS-1 50  -6.0 1
+ Q984 + ¢ T32 o JT « A8732
& T7 & QJ942 & QT97 & J52
®*+veN LKQ63 ®+veN L, KQ654
N ~~4~4 9543 N ~~~42 ¢KJ8
S ~~ 4~ 4 4 AK76 S ~~~42 454
E ~~~~~ aK3 E ~~~~~ aA84
W ~~~~~ W ~~~~~




